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Illustration

1. Distinguish between o« — D-gluecop-yranose (I) and

methyl @ — D-gluocopyranoside (II).

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2effHHnfGoqj

2. Write the structures obtained by the epimerisation of

a — D-gluocose at C' — 2, C' — 3,and C' — 4(OH) groups.

o Watch Video Solution

3. Explain, in neutral or basic aqueous solution, glycosides do
not show mutarotation, but in acidic medium they show

mutarotation.

o Watch Video Solution

4. Complete the following reactions:

(a). OCH — (CHOH),CH,Oh ——
5HIO,


https://dl.doubtnut.com/l/_WsHnccoXDFgK
https://dl.doubtnut.com/l/_47auccR93Bop
https://dl.doubtnut.com/l/_9qBXFh7J8feU

o

|| 5HIO,

(b). HOCH, — C — (CHOH), — CH,Oh —
zn/ ACOH

(c)O=HC-C - (CHOH),CH,OH ——

[ Onsone
! (Onsone)

° Watch Video Solution

5. (a). Glucose and fructose form the same osazone, what
does it prove?

(b). Why more than 3molofPhRNHNH, do not react with
glucose and fructose and how does PhNHN H,, which is a
powerful reducting agent, act as an oxidising agent in this

case?

° Watch Video Solution



https://dl.doubtnut.com/l/_9qBXFh7J8feU
https://dl.doubtnut.com/l/_qw3DAs3jML1f

6. Complete the following reactions

Maltose
(A)

@ & © @ @© © (&)

Dil. HCI |Maltase |Emulsin Fehling’s [dil. NaOH| Excess A
enzyme [enzyme |soln. of B? ‘
PhNHNH,| 2
? ? ?

? ? ? ?

o Watch Video Solution

7.(a). Why is 8 — D — gllucopyranose the most abundant of
naturally occurring aldohexoses?
(b). Write the most stable chair conformer for « — D —

fructopyranose. How does it dirrer from 8 — anomer?

o View Text Solution



https://dl.doubtnut.com/l/_AufPJpF6vHOj
https://dl.doubtnut.com/l/_kkihS4F2vGaL

8. (a). What is the average molecular mass of starch?
(b). What is the approximate average number of glucose
units in the sample of starch?

(Given:ZOgmL_1 of starch has an osmotic pressure

= 10" *atmat25°C. )

° Watch Video Solution

9. The specific rotation of o — glucose is +112° and § —
glucose is +19° and the specific rotation of the constant
equilibrium mixture is +52.7°. Calculate the percentage
composition of anomers (a and ) in the equilibrium

mixture.

o Watch Video Solution



https://dl.doubtnut.com/l/_ATuAZqnoGB27
https://dl.doubtnut.com/l/_vMyn9yHDH6Li

10. Give the steps for the conversion of D — glucose to D —

fructose and vice versa.

o Watch Video Solution

1. Explain why aldoses react with bendict's solution and

PhNHNH,, but not with NaHSOs.

o Watch Video Solution

12. A tripeptide oon complete hydrolysis gives glycine,
alanine, and phenylanine,using three-letter symbols write

down the possible sequences of the tripeptide.

o Watch Video Solution



https://dl.doubtnut.com/l/_HqpAD61AmuTz
https://dl.doubtnut.com/l/_6gE8hQWGcydt
https://dl.doubtnut.com/l/_bQGP8tl6NRkL

13. Adipetide on hydrolysis gives two amino acids.

(A)NH2|CHCOOH and (B)H2N|CHCOOH
R R’

The dipetide is also hydrolyses by leucine amino peptidase
enzyme giving amino acid (B). What is the structure of

dipeptide?

° View Text Solution

14. A tripeptide (X) on hydrolysis gives three amino acids

(A) (NI-I2 — CH — COOH |,
\ &
( )
(B)| NH, — CH — COOH |, and
\ = /
( )
(C)| NH, — |CH — COOH |.(X) and reaction with
\ = /


https://dl.doubtnut.com/l/_R5vCEf5aNAyh
https://dl.doubtnut.com/l/_oB2ZameqhmHh

NH,NH, gives a dipeptide (Y') and amino acid (B).
The dipeptide (Y') is hydrolysed by carboxypeptidase enzyme

and gives amino acid (A). what is the structure of (X)?

o View Text Solution

15. The two samples of DNA, A and B have melting
tempreatures (7},)340 and 350K respectively. Can you draw

any conclusion from this data regarding their base content?

o Watch Video Solution

16. In E. coliDNA, AT /GC ratio is 0.93. If the nimber of
moles of adenine in its DINA sample is 465, 000, calculate

the number of moles of guanine present.

| &


https://dl.doubtnut.com/l/_oB2ZameqhmHh
https://dl.doubtnut.com/l/_9DZtCMAuZ0ar
https://dl.doubtnut.com/l/_O0xCiUlkASLI

[ W Watch Video Solution ]

17. One strand of a DINA has the sequence ATGC T CA.
What is the sequence of the bases in the complementary

strand?

o Watch Video Solution

18. What will be the sequence of bases on mRNA molecule

synthesised on the DN A strand, TATCTACTGGA?

o Watch Video Solution

19. An unsaturated fatty acid on ozonolysis yields one

aldehyde  H3C(CH,),CHO and an  aldehyde


https://dl.doubtnut.com/l/_O0xCiUlkASLI
https://dl.doubtnut.com/l/_1yyl7icMQlny
https://dl.doubtnut.com/l/_YTtAjYCIEi9r
https://dl.doubtnut.com/l/_IImoQvJ7rerT

monocarboxylic acid OHC(CH,),COOH. Write down the

structure and name of the acid.

o Watch Video Solution

20. One mole of a naturally occurring fat on hydrolysis with
NaOH gave 1mol of glycerol together with sodium
palmitate and sodium stearate in 1:2 molar ratio. The
molecule of the fat is symmetric. Write down the struceture

of the fat.

o Watch Video Solution

Solved Examples



https://dl.doubtnut.com/l/_IImoQvJ7rerT
https://dl.doubtnut.com/l/_yzkjMfTNBID2

1. Convert D-glucopyranose to 2,3,4—

gluocopynoside.

triethyl

o Watch Video Solution

2. Complete the following reactions.

o
(i) PhCH, CVOH
N >(B
o-D Glu(cX)furanOSc Acetone/H,SO, ®) iy H® ‘l
| (
(i) ?
S
e () PhCH,CV/OH
ii. B D Glu(cl(;?lraﬂose Acetone/H® €) (i) H® 1
)
(i) PhCH cvgﬂ
o > 1 :
. a-D-Glu(Cé’)furanose Aceronere ) wn® |
D
vi. B-D-Glui?)furanose Acetonc/H® (K)
(ii) |
(if) Lo

(vi) 8 — D — Glucofuranose ——— (K)
(J) Acetone /H®


https://dl.doubtnut.com/l/_L73vZXdj2QnT
https://dl.doubtnut.com/l/_ipMaS8RMFHuu

° Watch Video Solution

3. Differentiate between D — erythrose and D — threose by

(a) mild oxidation and (b) reduction.

° Watch Video Solution

4. (a). Name the smallest aldose which forms cyclic
hemiacetal and the functional groups are involved in its

formation.

(b). What is invert sugar ?

(c ). Calculate the specific rotation of invert sugar. Given,
|| pofD — glucose = 52.7°

la| pofD — uc — se = — 92.4°

(d). Give the mechanism of mutarotaion of 5 — D — gluoco-


https://dl.doubtnut.com/l/_ipMaS8RMFHuu
https://dl.doubtnut.com/l/_0nx7Rlv8S844
https://dl.doubtnut.com/l/_500rxFcRlAKZ

e
pyranose in (i) aq. H® and (ii) OH.
(e). Why is the mutaraotation faster in the presence of 2 —

pyridinol?

o Watch Video Solution

5. Complete the following reactions:

i D - Glucose Ml pyyp N0
('f\) ' synthesis (B) \L
Meso-Heptaldaric acid s
Giliani . HNO
ii. D= Allose - ST Pair ——
(D) synthesis (E l

Meso-heptalaaric acid (F)

(i)

(ii) Lo

Explain whether the acids (C) and (F') are same or different.
Which pair out of (B) and (E) gives meso-acids (C) and (F)

?

o View Text Solution



https://dl.doubtnut.com/l/_500rxFcRlAKZ
https://dl.doubtnut.com/l/_k0x5bDXX5GOU

6. Give the structure and IJUPAC name of disaccharide,

which gives the reactio given below:

| )
Disaccharide —H3—O—> lGlucose + Fructosz
(A)

Hydrolyse both by T
" maltase or emulsin
Methylaﬁon and hydrolysis

2,3.4,6-Tetra-o-methyl-D-glucopyrane (B)
+
1,3 ,4,6-Tetra-o-methyl-D-fructofuranose (C)

Given, (A) does not reduce Fehling's solution and does not

mutarotate.

° View Text Solution

7.a. Give a chemical test of system with Is.

b. What is the change in colour, when the test is performed


https://dl.doubtnut.com/l/_k0x5bDXX5GOU
https://dl.doubtnut.com/l/_ZGtWP78AicfA
https://dl.doubtnut.com/l/_jazQTIhl3vRe

at high temperature?
c. What structural changes occurs during the change in
reaction conditions?

d. Do amylose and amylopectin give the same colour?

° Watch Video Solution

8. a. Write the equilibrium reaction to show the amphoteric
behaviour of alanine in H,O.

b. Calculate the isoelctric pH of alanine, given pK,;, of cation
of alanine = 2.3 and 'pK,, of anion of alanine=9.7.

c. Write equilibrium reaction for the dissociation of lysine, a
basic amino acid and calculate its isoelectric point.

pK,, of lysine with net ( + 2) charge=2.18

pK,, of lysin with net ( 4 1) charge=8.95

pK,, of lysine with net ( — 1) charge=10.53


https://dl.doubtnut.com/l/_jazQTIhl3vRe
https://dl.doubtnut.com/l/_CtZDwHBjqO8E

d. Write the equilibrium reaction for the dissociation of
aspartic acid, an acidic amino acid and calculate its
isoelectric point.

pK,, of aspartic acid with net ( 4 1) charge=1.88

pK,, of aspartic acid with net ( — 1) cahrge =3.65

pK,, of aspartic acid with net ( — 2) charge=9.60

° View Text Solution

9. a. How is the mixture of aspartic acid (A) histidine (B)
and threonine (C) separated by electrophoresis method?
pI(pH at isoelectric point) are given.

pl of (A),(B), and (C)are2.77,7.59, and 5.60 respectively.

b. How are they separated by solubility method?

° View Text Solution



https://dl.doubtnut.com/l/_CtZDwHBjqO8E
https://dl.doubtnut.com/l/_0gydIjABhyJw

10. a. Write the structure of histidine when
pH < 1.82 and pH > 1.82.

b. What is the pH range of neutral AA at the isoelectric
point?

c. The pH range in cellular fluid is 6 to 7. In what form
(dipolar,cation, or anion) do the amino acids in each class

predomiate in the cell?

° View Text Solution

11. Define the terms:
a. Gene, b. Genetic code,
c. Transcription, d. Translation

e. Codond

o Watch Video Solution



https://dl.doubtnut.com/l/_RU15hoed4OQ4
https://dl.doubtnut.com/l/_qKDWgwQmq7Mw

12. List three functions of nucleotides in a cell.

o Watch Video Solution

13. The two strands of DNA are not identical, but are

complementary'. Explain this statement.

o Watch Video Solution

14. Write two functions of carbohydrates in plants.

o Watch Video Solution



https://dl.doubtnut.com/l/_qKDWgwQmq7Mw
https://dl.doubtnut.com/l/_0qb2juIG3uVi
https://dl.doubtnut.com/l/_0JoemzQtJFM3
https://dl.doubtnut.com/l/_KfaHQu10ofXc

15. What type of bonding occurs in globular protein?

o Watch Video Solution

16. What will be the sequence of bases on mRN A molecule

synthesised on the DN A strand, TATCTACTGGA?

o Watch Video Solution

17. Name one reducing and one nonreducing disaccharide.

° Watch Video Solution

18. Name on fibrous and one globular protein.



https://dl.doubtnut.com/l/_r7FWVjiBSViL
https://dl.doubtnut.com/l/_dXitMnw29XB4
https://dl.doubtnut.com/l/_fWg9nXB2HJV1
https://dl.doubtnut.com/l/_LMvXiHFOwjVQ

| @9 Watch Video Solution I

19. What causes sickle cell anaemia?

o Watch Video Solution

20. Give one example of a denatured protein.

o Watch Video Solution

21. Name a polypeptide hormone which maintains the

glucose level in the blood.

o Watch Video Solution



https://dl.doubtnut.com/l/_LMvXiHFOwjVQ
https://dl.doubtnut.com/l/_71xKEEtptzpB
https://dl.doubtnut.com/l/_SJ81nQPpQ96D
https://dl.doubtnut.com/l/_mRSwoRUTrK94
https://dl.doubtnut.com/l/_MWruEiX2tKn5

22. What is nucleoside?

o Watch Video Solution

23. What is nucleoside?

o Watch Video Solution

24. Which purine and pyrimidine bases are present in DN A

and RNA?

o Watch Video Solution

25. What are waxes?

I ° Watch Video Solution


https://dl.doubtnut.com/l/_MWruEiX2tKn5
https://dl.doubtnut.com/l/_wrTyam02eSFh
https://dl.doubtnut.com/l/_bthP13dhwx4g
https://dl.doubtnut.com/l/_rET7Hz8RGRC3

26. What is mutarotation?

o Watch Video Solution

27. What are nutral amino acids? Give two examples.

° Watch Video Solution

28. What are acidic amino acids?

o Watch Video Solution

29. What are basic amino acids? Give one example.



https://dl.doubtnut.com/l/_rET7Hz8RGRC3
https://dl.doubtnut.com/l/_lDhO1LP0WN1p
https://dl.doubtnut.com/l/_KWO2EUQbkLXx
https://dl.doubtnut.com/l/_CoindqhP3eUB
https://dl.doubtnut.com/l/_emwm10XPOQBn

‘ o Watch Video Solution

30. Name the enzymes that help in the digestion of

carbohydrates.

o Watch Video Solution

31. What is deficiency disease of proteins in our body?

° Watch Video Solution

32. Arrange the following sugars in the increasing order of

sweetness: glucose, fructose, sucrose.

° Watch Video Solution



https://dl.doubtnut.com/l/_emwm10XPOQBn
https://dl.doubtnut.com/l/_pwd78DAlzAWJ
https://dl.doubtnut.com/l/_ClnN3POwSpfX
https://dl.doubtnut.com/l/_3zry9sGh6BBv

33. What are phospholipids?

o Watch Video Solution

34. Give two examples of disaccharides.

o Watch Video Solution

35. Name two important polysaccharides of D-glucose.

o Watch Video Solution

36. What is a peptide bond?

| o war_ao _L vl _ _ ~_1__.n°_ _


https://dl.doubtnut.com/l/_3zry9sGh6BBv
https://dl.doubtnut.com/l/_RgM2FVjHJLQv
https://dl.doubtnut.com/l/_wQv05jQEtti8
https://dl.doubtnut.com/l/_cLMcvR53c7l5
https://dl.doubtnut.com/l/_MkSDxaf64zIc

L vvdllll VIUCO o0IULIVII )|

37.Name the building blocks of proteins.

o Watch Video Solution

38. Write the zwitterion structure for glycine.

o Watch Video Solution

39. Which enzyme dissolves blood clots in the coronary

artery?

o Watch Video Solution



https://dl.doubtnut.com/l/_MkSDxaf64zIc
https://dl.doubtnut.com/l/_Z3wReyFQwWNi
https://dl.doubtnut.com/l/_SCKa8lIwmndy
https://dl.doubtnut.com/l/_32OGXGqYbwnf

40. name three nucleic acids which are used in protein

synthesis.

o Watch Video Solution

41. What are biofuels?

o Watch Video Solution

42. What are the monomers constituting proteins?

o Watch Video Solution

43. What is enzyme specificity?



https://dl.doubtnut.com/l/_HL8c6GkEc7fG
https://dl.doubtnut.com/l/_DOo1edvdHjHl
https://dl.doubtnut.com/l/_wQRDT5gqOf8h
https://dl.doubtnut.com/l/_Mw4CiQz8U7Xl

| 9 Watch Video Solution I

44.What is the effect of pH on the action of enzyme?

o Watch Video Solution

45. Explain the functions of nucleic acids.

° Watch Video Solution

Exercises (Concept Application)

1. What are monosaccharides?

o Watch Video Solution



https://dl.doubtnut.com/l/_Mw4CiQz8U7Xl
https://dl.doubtnut.com/l/_XG6aFqanEuAP
https://dl.doubtnut.com/l/_XHTTmPWhvXWK
https://dl.doubtnut.com/l/_ATyLkcZtvVv9

2. What are reducing sugars?

o Watch Video Solution

3. Write two functions of carbohydrates in plants.

o Watch Video Solution

4. Classify the following into monosaccharides and
disaccharides: Ribose, 2 — deoxyribose, maltose,galactose,

fructose,and lactose.

o Watch Video Solution



https://dl.doubtnut.com/l/_ATyLkcZtvVv9
https://dl.doubtnut.com/l/_WfpaJr5k8dAf
https://dl.doubtnut.com/l/_aRQYnWkU2gtX
https://dl.doubtnut.com/l/_aTphzren3KDH

5. What do you understand by the term glycosidic linkage?

o Watch Video Solution

6. What is glycogen? How is it different from starch?

o Watch Video Solution

7. What are the hydrolysis products of (i) sucrose and (%)

lactose?

o Watch Video Solution



https://dl.doubtnut.com/l/_eUIY1KOMOPQX
https://dl.doubtnut.com/l/_uMmQZKbe5iD0
https://dl.doubtnut.com/l/_LARFaWvTybPU

8. What is the basic structural difference between starch and

cellulose?

o Watch Video Solution

9. What happenes when D — glucose is treated with the
following reagents?

(). HI

(ii).Bromine water

(iii). HNO;

o Watch Video Solution

10. Enumerate the reactions of D-Glucose which cannot be

explained by its open-chain structure.


https://dl.doubtnut.com/l/_QrSW7yhqnHda
https://dl.doubtnut.com/l/_HILz3znDziHj
https://dl.doubtnut.com/l/_O866WXPIGxEo

o Watch Video Solution

11. What are the essential and non-essential amino acids?Give

two examples of each type.

o Watch Video Solution

12. Define the following as related to proteins:
(i)Peptide linkage (ii)Primary structure

(iii)Denaturation

o Watch Video Solution



https://dl.doubtnut.com/l/_O866WXPIGxEo
https://dl.doubtnut.com/l/_NexjV5hNf1bt
https://dl.doubtnut.com/l/_RFfo1Jj9Gad7

13. What are the common types of secondary structures fo

proteins?

o Watch Video Solution

14. What are of bonding helps in stabilising thea — helix

structure of proteins?

o Watch Video Solution

15. Differentiate between globular and fibrous proteins.

o Watch Video Solution



https://dl.doubtnut.com/l/_Q4RMtUMnp84V
https://dl.doubtnut.com/l/_ZeqgbkZfczAj
https://dl.doubtnut.com/l/_A8wdEJnIZO2k

16. How do you explain the amphoteric behaviour of amino

acids?

o Watch Video Solution

17. what are enzymes?

o Watch Video Solution

18. What is the effect of denaturation on the structure of

proteins?

o Watch Video Solution



https://dl.doubtnut.com/l/_r0HdaZWby4Jm
https://dl.doubtnut.com/l/_z3wU1PFdNq0V
https://dl.doubtnut.com/l/_tgZdkS50T0os

19. How are vitamines classified? Name the vitamin

responsible for the coagulation of blood.

o Watch Video Solution

20. Why are vitamin A and vitamin C essential for us? Give

their important sources.

o Watch Video Solution

21. Why are nucleic acids? Mention their two important

functions.

o Watch Video Solution



https://dl.doubtnut.com/l/_7wGDcwYPOGcc
https://dl.doubtnut.com/l/_DKAdbtBXXNFF
https://dl.doubtnut.com/l/_PjojCcBTQGlP
https://dl.doubtnut.com/l/_8OCJtd2UKjw5

22. What is the difference between a nucleoside and a

complementary. Explain.

o Watch Video Solution

23. The two strands of DINA are not identical, but are

complementary'. Explain this statement.

° Watch Video Solution

24. DIFFERENCE BETWEEN DNA & RNA

o Watch Video Solution

25. What are the different types of RN A found in the cell?


https://dl.doubtnut.com/l/_8OCJtd2UKjw5
https://dl.doubtnut.com/l/_v1iREQs77qGC
https://dl.doubtnut.com/l/_SAmf63iyCAn6
https://dl.doubtnut.com/l/_KmT28sVnmL9A

o Watch Video Solution

Exercises (Linked Comprehension)

H —— OMe
H—23—O0OH- LO4_> % L. Br), H,0
B HCOOH + (B) os
H j OH , ’
H—j (B) +(C)
CH,0H

The name of compound (A) is:

A. Methyl—a — D — glucofuranoside
B. Methyl— 3 — D — glucofuranoside
C. Methyl—a — D — glucopyranoside

D. Methyl— 3 — D — glucopyranoside


https://dl.doubtnut.com/l/_KmT28sVnmL9A
https://dl.doubtnut.com/l/_hQG6ekmclJvQ

Answer: C

o Watch Video Solution

H 0 OMe
H—+—0H 0 1% 5 HCOOH + (B) —-BraFs®
HO—1— 2 1,0®
H——OH :
H— (®)+(C)
CH,0H
(A)

2.

The number of moles of HIO, required in the above

reaction is:

A. One
B. Two
C.Three

D. Four


https://dl.doubtnut.com/l/_hQG6ekmclJvQ
https://dl.doubtnut.com/l/_4HTwt1Sz5178

Answer: B

o Watch Video Solution

H —1 OMe
H—1—0H 0 %5 HCOOH + (B) -2t
Hg:—:: o 2 H,0®
H— (®)+(C)
CH,0H
(A)

3.

The structure of (B) is:

H ——J— OMe
CHO 0
CHO

H

CH,OH


https://dl.doubtnut.com/l/_4HTwt1Sz5178
https://dl.doubtnut.com/l/_QHuVHrJ9m89I

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QHuVHrJ9m89I

PI——l——Wthe

HO —[OH 02> HCOOH + (B) 17 ~2 10
H—4—OH = ihe
H— (B) +(C)

CH,0H
(A)

CHO COOH
a | and H+OH
COOH

A CH,OH

. COOH

b. | and HO H

COOH CH,OH
. | and H OH
S CH,OH

COOH

d. | and HO H
D COOH CH,OH

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wiWalMdzKclA

H —— O
H% OH O M0 o oy 0+ (B)y =

H——oH ©+®,

The name of compound (A4) is:

A. Methyl-a-D-glucofuranoside
B. Methyl-3-D-glucofuranoside
C. Methyl-a-D-glucopyranoside

D. Methyl— 3 — D — glucopyranoside

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_wiWalMdzKclA
https://dl.doubtnut.com/l/_5xrpmNdITFBD
https://dl.doubtnut.com/l/_lElDFCQvqWwO

H—l—0oH O _HI0, LBr H.O

3 —> CH,=0 - (B) -
Hg—;—H l ’ 2 H.0®

v
;—OH (C)+~ (D
CH,OH
(A)

H

The number of moles of HIO, required in the above

reaction is:

A. One

B. Two

C.Three

D. Four

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lElDFCQvqWwO
https://dl.doubtnut.com/l/_jHZ9kAj91oBV

BLE{Q

H— OHO HI0, —— > CH,=O+ (B
HO——H | 2 (B) ey

H——OH ©+©)

The structure of (B) is?

OMe
CHO 0
CHO

A COOH

H—+—OMe
COOH 0O

b.  coon

B. COOH

CHO


https://dl.doubtnut.com/l/_jHZ9kAj91oBV

H—+—OMe
O

CHO

d.
COOH
H

CHO

Answer: C

o Watch Video Solution

i~ ou]
—0oH O % 5 oy 0+ @B) —2°
3 2=
o 4—H ’ ZHO“l
H——OH (C)* (D)
CH,OH
(A)

Compound (C) and (D) are:

CHO COOH
and H OH

a
'00H
A COOH



https://dl.doubtnut.com/l/_jHZ9kAj91oBV
https://dl.doubtnut.com/l/_Az2D1hSDmBuy

CHO COOH
b. l and |
COOH CH,OH

COOH (OOH
e | and H+OH

"COOH 0
C. COOH

COOH COOH
i and |
COOH  CH,0f

Answer: B

o Watch Video Solution

D-Glucopyranose —e2MICT 5 () Excessol (©)
(A) McZSO4/8H
2.3-Dimethoxy succinic €- FINO, (D) (‘Dll. HCI»'
acid (E) and (0]
2.3.4-Trimethoxy glutaric acid
(F)

o.

Which sta tement(S) is /are correct about (A)?


https://dl.doubtnut.com/l/_Az2D1hSDmBuy
https://dl.doubtnut.com/l/_xYSMPIsvjdss

A. It contains an acetalic linkage.

B. It contains a hemiacetalic linkage.

C. It has a six-membered cyclic ring.

D. It has a &-hemiacetalic linkage.

Answer: B::C::D

° Watch Video Solution

D-Glucopyranose McOH/HClﬁ‘(B) EXC?SS@Qf‘ —> (C)

(A\) Me,SO,/OH
. N Dil‘ll(‘,ll
2,3-Dimethoxy succinic eﬂ& - (D)

acid (E) and 10
2.3.4-Trimethoxy glutaric acid

10. (F)

Compound (B) is:


https://dl.doubtnut.com/l/_xYSMPIsvjdss
https://dl.doubtnut.com/l/_vY5RlYCNSEen

CH,OMe
H H O . H

OMeH
A McO OH

A. H OMe

CH,OMe
H M7 O.0H

B. H OMe

D. Both (a) and (b)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vY5RlYCNSEen

YCilire . McOH/HCI Pxcessof
D-Glucopyranose >(13) = > (C)

(A) Me,SO,/OH l
k Dil. HCI
2,3-Dimethoxy succimnic 6&— (D)

acid (E) and 0]
2.3.4-Trimethoxy glutaric acid

. (F)

Compound (C) is:

CH:OMC

Answer: C



https://dl.doubtnut.com/l/_XrgTtJyiAxjB

) Watch Video Solution

- Glucopyranose — MeOnId >(B) Excess of > (C)
(A) M(;ZS(J4/%H
23-Dimicthoxy succinic <- HNO, (D) fDil' HCl’
acid (E) and (9] |
- Trimcthoxy glutaric acid
(F)

12.

Compound (D) is:

CH,OMc

H A7 O\OH
OMe H
b- McO H
B.

H OMec

D. Both (a) and (b)


https://dl.doubtnut.com/l/_XrgTtJyiAxjB
https://dl.doubtnut.com/l/_W1EwNQa20K4L

Answer: D

° Watch Video Solution

D-Glucopyranosc McO”/HClﬁ‘(B) Excess of —>(C)
g 2\

(A) Me,50,/Ot ‘
2.3-Dimethoxy succinic (”\\O‘ (D) Dil. He'

acid (E) and 101
2.3.4-Trimethoxy glutaric acid

13. (F)

Which statement(S) is /are correct about the products (E)
and (F)?
A.The product (E) is ontained by the breakage of C' — 4
and C — 5 bond of compound (D).
B. The product (E) is obtained by the breakage of C' — 5

and C' — 6 bond of compound (D).


https://dl.doubtnut.com/l/_W1EwNQa20K4L
https://dl.doubtnut.com/l/_46Sn0cpudKoi

C.The product (F) is obtained by the breakage of C' — 4

and C' — 5 bond of compound (D).

D. The product (F) is obtained by the breakage of C' — 5

and C — 6 bond of compound (D).

Answer: A::D

o Watch Video Solution



https://dl.doubtnut.com/l/_46Sn0cpudKoi

. - McOI/EIC
D-Crilucofuranose -jﬂiLl—% (H)‘——“LL of

(A) M, SO, /OH

(I)) Il HO (C)

(0] HNO,
Path (a) Path (b)
COOH COOH "OOH
-OMe }701\40 : OMe

F McOJ + MeOCH, COOH
C1L,OMe  COOH COOH
Dimcthoxy Mecthoxy 2,3-Dimethoxy  2-Methoxy
glyceric arcd malonic acid succinic acetic

acid acid

14.
Which statement(S) is /are correct about (A)?
A. It contains an acetalic linkage.
B. It contains a hemiacetalic linkage.
C.It has a six-membered cyclic ring and a d-hemiacetalic
linkage.
D. It has a five-membered cyclic ring and a y-hemiacetalic

linkage.


https://dl.doubtnut.com/l/_Mwm7Zr5ACA84

Answer: B::D

o Watch Video Solution

: ; OH/HC Frcens of
D-Glucoluranose MECHA (B) — (‘i
)
(A) Me, SO /O
il HC ,
(D)<————(C)
[O]] HNO,

Path (a) Path (b)

v R

COOH COOH "OOH
OMe
OMe OMe
}ﬁ ¢ fﬁ ¢ McO + MeOCH2 COOH

CH,OMc  COOH COOH
Dimethoxy Mecthoxy 2,3-Dimethoxy  2-Mcthosy
glycericaicd  malonic acid succinic acctic
acid acid

15.

Compound (B) is:

‘CH,0Me
SCHOMe
O-_H

4 I
a.  ‘KOMeH
MeO / OH

3
H OMe


https://dl.doubtnut.com/l/_Mwm7Zr5ACA84
https://dl.doubtnut.com/l/_ZBftm28Yo2Df

D. Both (a) and (b)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ZBftm28Yo2Df

McOH/HC

Foxcess of

D-Cilucofuranosc >(B)—— ——
(A) Me,S0,/¢ "
”)) il HC (C)
[0]| HNO,
Path (a) Path (b)
COOH COOH "OOH
OMe
OMe OMe
F f" Mcoj + MeOCH, COOH
C1,0Me  COOH COOH
Dimethoxy Methoxy 2,3-Dimethoxy  2-Methoxy
glyceric aicd  malonic acid succinic acetic
acid acid

16.

Compound (C) is:

°CH,0Me
SCHOMe
O-_H

4 |
a. OMe H
MeO / OH

3
H OMe

6C‘HZOMe
SCHOMe
O._ OH

b. * OMeH};
MeO 2

3
H OMe


https://dl.doubtnut.com/l/_UlQ30ug0Lx0l

Answer: C

o Watch Video Solution

: . McOT/HC
D-Glucoluranose ——=202 1y (B)—-

(A) Mo SO JON

Forcen ol

(D) il HC (C)

[0]| HNO,

Path (a) Path (b)

v Vv

COOH COOH "OOH
OMe
~-OMe OMc
F M¢ }* c MeOJ + MeOCH, COOH

C11,0Mc — COOI COOH

Dimcthoxy Mcthoxy 2,3-Dimethoxy  2-Methoxy

glyceric ared malonic acid succetnic acetic
acid acid

17.

Compound (D) is:


https://dl.doubtnut.com/l/_UlQ30ug0Lx0l
https://dl.doubtnut.com/l/_EyYR8G5H1iCZ

D. Both (a) and (b)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_EyYR8G5H1iCZ

McOH/HCT foxcess of

D-Glucofuranose —————-3> (1) —— a—
(A) Me,S0,/¢ o
”)) il HC (C)
[0]| HNO,
Path (a) Path (b)
COOH COOH "OOH
OMe f——OMC OMe
F MeO + MeOCH, COOH
C1,0Me  COOH COOH
Dimcthoxy Mcthoxy 2,3-Dimethoxy  2-Mcihoxy
glyceric aicd  malonic acid suceinic acctic
acid acid

18.
Which statemetn(S) is/are correct about the products
from (D) by path (a) and path (b)?
A. The products by path (a) are obtained by the breakage
of C' — 3and C — 4 bond of compound (D).

B. The products by path (a) are obtained by the breakage

of C' — 4and C — 5 and bond of compound (D).


https://dl.doubtnut.com/l/_axuGlSgn8e4C

C. The products by path (b) are obtained by the breakage

of C' — 3 and C — 4 bond of compound (D).

D. The products by path (b) are obtained by the breakage

of C' — 4and C — 5 bond of compound (D).

Answer: A::D

o Watch Video Solution

'CHO lZCHO
{
i H——OH pynpvn
HO—f—p PN gy g —H T (D)
H——OH H—4—OH
H——OH H—}—OH
6
‘cH,0H CH,OH
D-2-Deoxy glucose D-3-D€(z)g)glucose
A
10. (A)

Compound (B) is:


https://dl.doubtnut.com/l/_axuGlSgn8e4C
https://dl.doubtnut.com/l/_jt50S8GqoRhL

A. Phenylhydrazone of (A)
B. Osazone (A)

C. Both

D. None

Answer: A

o Watch Video Solution

1

CHO CHO
2 2
—H H—+—OH PhNHNH,
HOL_p PINHNH: o g S D)
H—+—OH — H
H—t—OH H—4—OH
6
‘cH,0H CH,OH
D-2-Deoxy glucose D-3-Deoxy glucose
(A) (©)

20.

How many moles of PhNH N H> react with 1mol(A)?



https://dl.doubtnut.com/l/_jt50S8GqoRhL
https://dl.doubtnut.com/l/_gGsfufOwBZtg

Al

B. 2

C.3

D.4

Answer: A

o Watch Video Solution

1 1

CHO CHO
2 2
i H—4+—OH pnin
HO—+—H m (B), H i H 3% (D)
H—4—OH H—4—OH
H—+—OH H——OH
6
‘cn,0n CH,OH
D-2-Deoxy glucose D-3-Deoxy glucose
’ (A) (©)

The compound (D) is:


https://dl.doubtnut.com/l/_gGsfufOwBZtg
https://dl.doubtnut.com/l/_OkKOYONryOFJ

A. Phenylhydrazone of (C)
B. Osazone of (C)
C.Both

D. None

Answer: B

° Watch Video Solution

1 1

CHO CHO
2 2
- H H——OH pnpnn
HO—3Lp PhNHNH, J (B), H i H 7 (D)
H—4—OH H—4—OH
H—}—OH H—l—OH
6
‘cH,0H CH,OH
D-2-Deoxy glucose D-3-Deoxy glucose
22 (A) (©)

How manty moles of (C) react with 1molPhNHN H>


https://dl.doubtnut.com/l/_OkKOYONryOFJ
https://dl.doubtnut.com/l/_xIQJg566DeH6

Al

B.3

C.2

D.1/3

Answer: D

o Watch Video Solution

., H;09 . .
Tetrapeptide ———> Four amino acids
(I) Glycine, Alanine, Valine,and Leucine

A ® (© (D

DNP method . . .
o > Tripeptide + Alanine (B)
Sanger’s method (II)
. or .

Leucine aminopeptidase NH,NH; (Hydrazinolysis)

enzyme or
Carboxy peptidase enzyme

Valine ¢« PA—N=C=S

(©) (Pheny! isothiocyanate) Dipeptide + Glycine (A)

(Edman method) (IH)
23.

The dipeptide (I11) is:


https://dl.doubtnut.com/l/_xIQJg566DeH6
https://dl.doubtnut.com/l/_U4JXqcV5cJH0

A.Val — Leu

B.Leu — Val

C.Gly — Ala

D.Ala — Gly

Answer: A

° Watch Video Solution

T .. H,09 : .
ctrapeptide ——> Four amino acids
(I) Glycine, Alanine, Valine,and Leucine

(A B (© (D

DNP method .
o > Tripeptide + Alanine (B)
S.anger grmetlwofi (I1)
Leucine :nmz;x}ggepndase NH,NH, (H())fiirazinolysis)
Carboxy peptidase enzyme
Valine ¢« Ph—N=C==S

(C) (Phenyl isothiocyanate) Dipeptide * Glycine (A)

(Edman method) (IH)
24,

The tripeptide (I1) is:


https://dl.doubtnut.com/l/_U4JXqcV5cJH0
https://dl.doubtnut.com/l/_CPCjBHHHjMmu

A.Gly — Leu — Val

B.Val — Leu — Gly

C.Leu — Gly — Val

D.Val — Gly — Leu

Answer: B

° Watch Video Solution

.. H,0® :
Tetrapeptide ———> Four amino acids

(I) Glycine, Alanine, Valine,and Leucine

(A B (© (D

DNP method . .
Sangergrme“wd > TrlpeptldeI;r Alanine (B)
Leucine am?;opeptidase ngzl\?H'; (Hydrazinolysis)
enzyme T oor
Carboxy peptidase enzyme
Valine ¢« PA—N=C=S

(C) (Phenyl isothiocyanate) Dipeptide * Glycine (A)

(Edman method) (IH)
25.

The tetrapeptide (I) is:


https://dl.doubtnut.com/l/_CPCjBHHHjMmu
https://dl.doubtnut.com/l/_ekv3kF6rGmEG

A.Gly — Leu — Val — Ala

B.Ala — Val — Gly — Leu

C.Gly — Val — Leu — Ala

D.Ala — Val — Leu — Gly

Answer: D

° Watch Video Solution

o-Amino acid (A) -MeOHWHC, By (41 ,(NO5CI)

(C3H7NO3) o \L PCls
(D) (C3HgNOCI) <2 (C) (C4HoNO,Cl,)
Na—Hg/HCl
Alanine

26.

Compound A’ has many functional groups.

Al


https://dl.doubtnut.com/l/_ekv3kF6rGmEG
https://dl.doubtnut.com/l/_HRlRvizj5rpt

B.2

C.3

D.4

Answer: C

o Watch Video Solution

a-Amino acid (A) MeOHMC, - By (1 ,(NO5CI)
(C3H7NO3) \L PCls

0 AD
(D) (C3HgNOXCl) <22 (C) (C4HsNOCly)
Na—Hg/HCl

27. Alanine
Compound (B) is:

OH
o L
A. a. Cl NHy” “COOMe


https://dl.doubtnut.com/l/_HRlRvizj5rpt
https://dl.doubtnut.com/l/_LOifAUvi6fFn

B. e
Cl
c. Me NO,
C OH
D. OMe
Answer: A

o Watch Video Solution

o-Amino acid (A) -MeOUIC, gy (41 ,(NO5CI)

(C3H7NO3) o \L PCls
(D) (C3HgNOLCl) <22 (C) (C4HNOCly)
Na—Hg/HCl
Alanine

28.

Compound (C) is:


https://dl.doubtnut.com/l/_LOifAUvi6fFn
https://dl.doubtnut.com/l/_QYAmeqixm5e4

Cl
& S

a. CI NHy;”1>COOMe

A. Me

Cl

oe il
b. Cl NH;4 COOMe

Cl

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_QYAmeqixm5e4

o-Amino acid (A) -MeOHWHC, By (41 ,(NO5CI)

(C3H7NO») o \L PCls
(D) (C3HgNOLCl) <22— (C) (C4HoNOCly)
Na—Hg/HCl
Alanine

29.

Compound (D) is:

Cl

a. HZN/KCOOH

Cl

g b. H2N/<COOH

T
¢. HO” >SNH- Nl

A

C.

D. Both (b) and (c)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KQmzPooSKkU0
https://dl.doubtnut.com/l/_GvZtc0LzdKbD

D-Glucose —NaBHsy D-(B)—@———a L-2-Ketosugar
Enzyme
(A) A. suboxydans (®)
Taut-
omerise
2 Acetone /‘

5]
1) KMnO,/OH _ +H,804 (D)

u® (
F)< (E) <
ya ) (ii) aq. H®

L-Ascorbic acid
(Vitamin C)

30.
Account for the acidity of L — ascorbic acid (pK, = 4.21).
Which of the following is most acidic H? (Marked in the

structure as H®, H®, H"ande)

A H"


https://dl.doubtnut.com/l/_GvZtc0LzdKbD

Answer: C

o View Text Solution

D-Glucose —NaBHsy D-(B) or L-2-Ketosugar
(A) A. iﬁiflgans (C)
Taut-
2 Acetone /l omense
() KMnO4/OH (E) < +H,80, (D)

F)<
\; ( (11) aq. H69

O
(&)
L-Ascorbic acid
(Vitamin C)

31.

How many chrial centres are in (G) (L-ascorbic acid) ?

Al

B.2


https://dl.doubtnut.com/l/_GvZtc0LzdKbD
https://dl.doubtnut.com/l/_OrSMfgMzezDn

C.3

D.4

Answer: B

° View Text Solution

D-Glucose —NaBHsy D-(B) En[z(?/]me > L-2-Ketosugar

(A) A. suboxydans ©)

Taut
omerise
2 Acetone

(1) KMI‘]O4/OH E P +HZSO4 (D)

F < <
r( (i1) aq. H ( )

(&)
L-Ascorbic acid
(Vitamin C)

32.
Aldohexose reacts with acetone in HySO, to form cyclic

ketal. Necessary condition to form cyclic ketal is that two OH


https://dl.doubtnut.com/l/_OrSMfgMzezDn
https://dl.doubtnut.com/l/_uT6f2rIHN23V

groups must be in cis (syn) position. Compound (D) reacts

with 2mol fo acetone to form cyclic diketal, as shown below.

'CH,0H

| 'CH,0H
—C :

HO i OJM;Me 0] (ﬁ
HO—C  + "\pMe  Me” No—C

+—OH 0

HO—5 HO 5 1\1\//1166
6 - OH
C g; 6cH2 e
( (B)

Which statement(s)is /are correct about (E)?

A. Both cyclic ketals have five-membered ring.

B. Both cyclic ketals have six-membered ring.

C. Cyclic ketals formed between C — 2 and C — 3 have
five-membered ring.

D. Cyclic ketals formed between C' — 4 and C — 6 have

six-membered ring.


https://dl.doubtnut.com/l/_uT6f2rIHN23V

Answer: C::D

o View Text Solution

D-Glucose N2BHsy D-(B) En[g]me > L-2-Ketosugar
(A) A. suboxydans ©
Taut-
omerise
2 Acetone /\

S}
(i) KMnO,/OH

W(F) «——— (B)< (D)
(i) aq. H

G)
L-Ascorbic acid
(Vitamin C)

33.

The structure of (G) is shown below:


https://dl.doubtnut.com/l/_uT6f2rIHN23V
https://dl.doubtnut.com/l/_w9Bp97L8jI8o

am
T

T
T
- O=0—0=0

4
HO —{s
°CH,0H (G)

Which of the statement(s)is /are correct about (G)?

A. It is a y-lactone.
B. It is a d-lactone

C. It has furanose structure.


https://dl.doubtnut.com/l/_w9Bp97L8jI8o

D. It has pyranose structure.

Answer: A::C

o View Text Solution

D-Glucose —NaBHsy D-(B)—[O—]——-> L-2-Ketosugar
Enzyme
(A) A. suboxydans (©)
Taut-
omerise
o 2 Acetone /l
(i) KMnO,/OH _ +H,80,

H® - ¢
b )< (ii) ag. H® )< v

@)
G)
L-Ascorbic acid
(Vitamin C)

34.
If the lacetone formation in compound (G) takes place
between C' — 1 and C — 5, then the structure of (G) can be

represented as:


https://dl.doubtnut.com/l/_w9Bp97L8jI8o
https://dl.doubtnut.com/l/_NLLM8qnAGMhy

H (@)
a. —
HO\——
A HO OH
H
HO 0O,
b. KH =0
B HO OH
CH,OH
H O
H =0
HO\——
C HO OH
D.
Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_NLLM8qnAGMhy

i) KCN _
w > Products (B)

(i) Ba(OH), + H,S0, ~
lA
Na/Hg, H;0®

(D+E)<= Products (C)

D-Glyceraldehyde

D) _——IT\%__) Dibasic acid (optically active) (F)

(E) —ﬂ%)(—')—% Dibasic acid (optically inactive) (G)
: 3
35. ‘

Two isomeric products are obtained in (B). They are:
A. Diastereomers
B. Anomers
C.C — 2 epimer

D.C — 3 epimer

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_rY9cCZETHLya

i) KCN -
o > Products (B)

(i) Ba(OH), + H,S0, ~
lA
Na/Hg, H;0®

(D+E) < Products (C)

D-Glyceraldehyde

D) .,'O_(L—» Dibasic acid (optically active) (F)

(E) _TILI\S%_—} Dibasic acid (optically inactive) (G)
: 3
36. ‘

The sequence from (A) to (D + E) is called:
A. Wohl's method
B. Ruff method
C. Kilian's method

D. Ekenstein method

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_wCmlTTeqwTB7

(i) KCN

> Products \
(i) Ba(OH), + H,80, (B)

lA
Na/Hg, H,0®
(D+E)<— e Products (C)

D-Glyceraldehyde

(D) -——[I\%—e Dibasic acid (optically active) (F)
HNO,

(E) —ﬂ%)(—l)—é Dibasic acid (optically inactive) (G)
: 3
37. ‘

Two isomeric products are obtained in (C) they are:
A. Both vy-lactones
B. Both d-lactones
C. One is v-lactone and another is §-lactone

D. None

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_En34dQ2D7Wwe

(i) KCN _
> Products (B)

(i) Ba(OH), + H,S0, ~
lA
Na/Hg, H;0®

(D+E)< Products (C)

D-Glyceraldehyde

D) —1—117\%—% Dibasic acid (optically active) (F)
N3

(E) ‘ﬁ%—) Dibasic acid (optically inactive) (G)
38, !

The compounds (F') and (G), respectively, are:

COOH COOH
a OH and HO
OH OH
COOH COOH
A. 0] (1)
B. (1) and (1)
C.le
D. (IV) and (I11)
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_SB8LRFP1F7je

Exercises (Multiple Correcttype)

1. D-Glucose and D-fructose both form the same osazone,

Which statements are correct about the above reaciton?

A. Glucose and fructose are epimers.

B. Glucose and fruc tose are anomers.

C.The c onfigurations of the OH group at C-3 and c-4 in
glucose and fruc tose are same.

D. The configurations of the OH group at C -4 and C-5 in

glucose and fructose are same.

Answer: C::D

| a war_o_L v il _ ~_ .. _ l



https://dl.doubtnut.com/l/_SB8LRFP1F7je
https://dl.doubtnut.com/l/_7uToWRlWeKOm

L T Vvvallll vidcCo o0Iuliornl ) |

2. Which of the following statements are correct?

A. D-Mannose is a C-2 epmier of D-glucose.

B. D-Allose is a C-3 epimer of D-glucose.

C. D-Gallactose is a C-4 epmier of D-glucose.

D.a — D(+)  glucopyranose and (B — D(+)

glucoforanose are anomers.

Answer: A::B::C

° Watch Video Solution

3. Which of the following statements are correct?



https://dl.doubtnut.com/l/_7uToWRlWeKOm
https://dl.doubtnut.com/l/_r2GCR1nIOGRU
https://dl.doubtnut.com/l/_stcgKM1WWZmr

A. One mole of PAINH N H, reacts with 3 mol glucose to

form osazone.

B. One mole of D-fructose reacts with 3 mol PhRNHNH,

to form osazone.

C.One mole of D-2 deoxy glucose reacts with 1 mol

PhNHNH, to form phenylhydeazone.

D. One mole of D-3 deoxy glucose reacts with 3 mol of

PhNHNH, to form osazone.

Answer: B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_stcgKM1WWZmr

4. Which of the following statements are correct about a-
amino acids.
A. All the amino acids which constitute proteins have D-
configuration.
B. Isoelectric point of glycine is 6.1.
C. Valine is an essential amino acid
D. In a-amino acids, the basic group is < — COOG) and

D
acidic groups is ( — NH3).

Answer: B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_MImGojFdjz4Q

5. Which of the following exhibit mutarotation?

A. Glucose

B. Maltose

C. Frctose

D. Galactose

Answer: A::B::C::D

o Watch Video Solution

6. Which of the following statements are correct?

A.B — D(+) glucopyranose is more stable than

a — D( + ) glucopyranose.



https://dl.doubtnut.com/l/_NpGhvZTWOuB6
https://dl.doubtnut.com/l/_hvadYFTMrXhB

B. Invert sugar is laevorotatory.

C. Dextrose is D (+) glucose.

D. Levulose is D (-) fructose.

Answer: A::B::C::D

° Watch Video Solution

7. Which of the following statements are false?

A. Glucose is the only aldose that mutarotates.

B. Ketose also mutarotates.

C. Glycosides mutarotate.

D. There is a relationship between the ability of a sugar to

mutarotate and to reduce Tollens of Fehling's regents.


https://dl.doubtnut.com/l/_hvadYFTMrXhB
https://dl.doubtnut.com/l/_CF5nSVOjVW9x

Answer: A::C

o Watch Video Solution

8. The smallest aldose which is able to form cyclic hemiacetal
is/are:

A. D-glyceraldehyde

B. D-Erythrose

C. D-Threose

D. D-Ribose

Answer: B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_CF5nSVOjVW9x
https://dl.doubtnut.com/l/_M1b9fl21jFEG
https://dl.doubtnut.com/l/_33W8mTBdx96P

9. Which statements are correct about the reaction?

. Excess N PhNHNH
Afdc(ﬁe)xose o AC,ONZOAC Products (B) —-———{
\’
Products (C)

A. Products (B) are a and 3 - penta acetates.

B. Products (B) are a and [ - tetra acetates.

C. Products (C) are phenyl hydrazones of products (B).

D. Products (B) do not react with PhINHN H,.

Answer: A::D

° View Text Solution

10. Which of the statements are correct?


https://dl.doubtnut.com/l/_33W8mTBdx96P
https://dl.doubtnut.com/l/_vBFYg4Q92EWQ

A. Aldoses reacts with Bendict's solution and PhANHNH,

B. Aldoses do not react with NaH SOs.

C. Ketoses react with Fehling's solution and PhNHN H,.

D. Ketoses react with NaH SOs.

Answer: A::B::C

° View Text Solution

11. Which statements are correct about the reactions?

NaCN / HCN
D-Glucose ——  products.

A.The C chain is increased by one C atom.


https://dl.doubtnut.com/l/_vBFYg4Q92EWQ
https://dl.doubtnut.com/l/_iY1FEdJo1QY9

B.Two isomeric productsm, cyanohydrin and its C-2
epimeric cyanohydrin are formed.

C. Epimers formed in products are in unequal amounts.

D.The presence of stereocentres in sugars cause their
(C = O) groups to have diastereotopic faces that
react at different rates, giving different amounts of

diasteremers.

Answer: A::B::C::D

° View Text Solution

12. Which of the following are D-sugars?


https://dl.doubtnut.com/l/_iY1FEdJo1QY9
https://dl.doubtnut.com/l/_mKi1MDl4JZhB

CH,OH
4. HO——H
* HO——H
CHO

Answer: A::B::D

o Watch Video Solution

13. Which of the following pairs are C — 2 epimers?


https://dl.doubtnut.com/l/_mKi1MDl4JZhB
https://dl.doubtnut.com/l/_6rWsu8zYVqqU

A. Allose, Altrose

B. Glucose, Mannose

C. Glucose, Indose

D. Galactose, Talose

Answer: A::B::C::D

o Watch Video Solution

14. Which of the following pairs form same osazone?

A. Glucose, Fructose

B. Glucose, Mannose

C. Ribose, Arabinose

D. Mannos4e, Fructose


https://dl.doubtnut.com/l/_6rWsu8zYVqqU
https://dl.doubtnut.com/l/_LAwFreKZF5nN

Answer: A::B::C::D

o Watch Video Solution

15. Which of the following pairs are C' — 2 epimers as well as

enantiomers?

A. D-Glyceraldehyde and L-Glyceraldehyde

B. D-Erythrose and D-Threose

C. D-Ribose and D-Arabinose

D. D-Xylose and D-Lyxose

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LAwFreKZF5nN
https://dl.doubtnut.com/l/_MUeam1Th51i6
https://dl.doubtnut.com/l/_RljCcN3txSNH

16. Which statements(s)is /are correct about sucrose?

A.(C; — a)(OH) of glucopyranose is linked with
(C’z( _8) (om) of fructofuranose.

B.(C1 — a)(OH) of glucopyranose is linked with
(Cy — B)(OH) of fructopyranose.

C. It reduces Fehling's solution.

D. It exhibits mutarotation.

Answer: A

° Watch Video Solution

17. Which statements are correct about sucrose?


https://dl.doubtnut.com/l/_RljCcN3txSNH
https://dl.doubtnut.com/l/_XXFkjuVtFBCe

A.IUPAC name of sucrose is a-D-glucopyranosyl-G-D-

fructofuranside.

B.IUPAC name of sucrose is pS-D-fructofuranosyl-a-D-

glucopyranoside.

C. It is hydrolysed both by emulsin and amylase.

D. On hydrolysis, the solution is laevorotatory.

Answer: A::B::C::D

° Watch Video Solution

18. Which statements are correct about sucrose?

A.On complete methylation with Me; SO,/ NaOH, it

forms an octa-o-methyl product.


https://dl.doubtnut.com/l/_XXFkjuVtFBCe
https://dl.doubtnut.com/l/_lbJZ0OWhPkj3

B. On complete acetylation with Ac,O / NaOAC, it forms
a hexaacetate product.

C.On complete acetylation with Mey, SO,/ NaOH, it
forms hexa-o-methyl product.

D. On complete acetylation with Ac;O / NaOAC, it forms

octa-acetate product.

Answer: A::D

° Watch Video Solution

19. Which statements are correct about lactose?

A.(C; — B)(OH) of glucose is linked with (Cy — OH) of

galactose.


https://dl.doubtnut.com/l/_lbJZ0OWhPkj3
https://dl.doubtnut.com/l/_IYdECk7WzAn1

B.(C; — ) — (OH) of galactose is linked with
(Cy — OH) of -glucose.
C. It is hydrolysed both by amylase and lactase.

D. It exhibits mutarotation.

Answer: B::D

° Watch Video Solution

20. Which statements are correct about lactose?

A.IUPAC name of lactose is 8 — galactopyranosyl-3-D-

glucopyranoside.

B. IUPAC name of lactose is § — D-glucopyranosyl 8 — D-

galactopyranoside


https://dl.doubtnut.com/l/_IYdECk7WzAn1
https://dl.doubtnut.com/l/_uRoIGL5S3flr

C. On methylation with MeOH / HCI, it gives methyl-3-
D-glactopyranosyl- 5-D-glucopyranoside.
D. On methylation with MeOH / HCI, it gives methyl- 8-

D-glucopyranosyl-3-D-galactopyranoside.

Answer: A::B::C

° Watch Video Solution

21. Which statements are correct about the reaction of

lactose?

Lactose — MeOH/HCI | (B) Me,SO,/NaOH
(A) 7 jl
o d

D
(D) 2 (C)



https://dl.doubtnut.com/l/_uRoIGL5S3flr
https://dl.doubtnut.com/l/_cKdiGzZFwqh3

A.The product (C ) is methyl-hepta-o-methyl- [3-D-

galactopyranosyl-3-D-glucopyranoside.

B.The product © is methyl-octa-o-methyl-3-D-

galactopyranosyl-3-D-glucopyranoside.

C. Products (D) are :

CH,0Me CH,0Me
MeO 0. O OH
OMe OH + OMe
Ho ho H
OMe OMe

D. Products (D) are :

CH,OMe CH,OMe
MeO 0. o R
OMe S0+ Come Y
H H
HO
OMe OMe
Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_cKdiGzZFwqh3

22. Which statements are correct about the

maltose?

MeOH/HCI Ac,0O/NaOAc
Maltose —— > (B) — \

(A) |

A. Product (C)is:

CH,0Ac CH,0Ac
ol H/ —o
OAc OAc
AcO o OMe
OAc OAc

B. Product (C)is:

CH,0Ac CH,0Ac
0, H 0.0Me
OAc 0-K OAc
H
AcO
OAc OAc

C. Products (D) are :

c. Products (D) are:
CH,OH CH,0H

o J—o0oMe

oH on + (OH )
HO H HO

OH OH

reaction of


https://dl.doubtnut.com/l/_JRhiAmra19ch

D. Products (D) are 2 mol a- and -D-glucose.

Answer: A::D

o Watch Video Solution

23. How many base pairs in the gene are needed to code for
the enzyme lysozyme, containing 129 amino acids, found in
egg white?

A .3 x 129

B. (3 x 129) + (3 x 2) = 393 base pairs

C. (3 x 129) + (3 x 3) = 396 base pairs

D.4 x 129

Answer: B


https://dl.doubtnut.com/l/_JRhiAmra19ch
https://dl.doubtnut.com/l/_tlWUNU79XiD4

o Watch Video Solution

24. Which of the following contain disulphide linkages?

A. Oxytocin

B. Vasopressin

C. Insulin

D. Haemoglobin

Answer: A::B::C

o Watch Video Solution

25. Globular proteins are present in:


https://dl.doubtnut.com/l/_tlWUNU79XiD4
https://dl.doubtnut.com/l/_iNuYNozOMUQe
https://dl.doubtnut.com/l/_C3q5fTkkAW1e

A Eggs

B. Muscles

C. Keratin

D. Blood

Answer: A::D

° Watch Video Solution

26. Which of the statements are correct about D, L of

sugars and amino acids.

A.In sugars, symbols D and L refer to the relative

configuration of the OH groups at the penultimate C

atom wrt. to glyceraldehyde taken as standard. D


https://dl.doubtnut.com/l/_C3q5fTkkAW1e
https://dl.doubtnut.com/l/_cQVRmY9L5sJG

refers to ( — OH) group on RH.S. and L refres to OH
group on LH.S.

B.In amino acids, symbols D and L refer to the relative
configuration of the (NH,) group wrt. D (+) serine
taken as standard L« [D (+) Serine].

C.D refers to NH; group on RHS. and L refers to
( — NH,) group on LH.S.

D.In sugars, d refers to dextrorotatory and L refers to

laevoratotory.

Answer: A::B

° Watch Video Solution



https://dl.doubtnut.com/l/_cQVRmY9L5sJG

27. A mixture of three protiens, (A) (pepsin), (B) (haemo-
globin), and (C) (lysozyme) was seperated by elctrophoresis
method at pH = 7. The pH at isoelectric point (pI) of the
proteins are pI of (A), (B), and (C) which are 1.1, 6.7, and
11.0, respectively. which of the statement are correct?

A. Pepsin (A) will migrate to the cathode.

B. Lysozyme (C ) will migrate to the anode.

C. Haemoglobon will not migrate.

D. At pH=7, (A) and (C ) would precipitate out while (B)

would remain in the solution.

Answer: A::B::C

° View Text Solution



https://dl.doubtnut.com/l/_vvzw74RNVFOc

28. Which statements are correct about the mixture of lysine
pl =9.6) and glycine (pI =5.97), sparated by
electrophoresis method or by solubility method?
A.At pH = 5.97, glycine does not migrate while lysine
moves to the cathode.
B. At pH = 5.97, glycine does not migrate while lysine
moves to the anode.
C.At pH = 9.6, lysine does not migrate while glycine
moves to the anode.
D. At pH = 5.97 of the mmixture of the solution, glycine

precipitates out while lysine remains in the solution.

Answer: A::C::D

| = 1


https://dl.doubtnut.com/l/_RPqPpsFiRDQm

| @ View Text Solution

29. The structure of aspartic acid is given below .

HOOC — C|H — CH,COOH | (A)The pK,,, pK,,,
® NH;

and pK,, of (A), respectively, are: 1.88, 3.65, and 9.60. pK,,
corresponds to the ionisation of the COOH group, of
@
NHs

|
R CH - COOH

+
pK,, corresponds to the ionsation of NH;»,) (@ammonium

ion). what is the pH at isoelectric points (pI)?

A pKa1 + pKa2
’ 2

5 pK,, + pK,,
' 2

c pK,, + pK,,
' 2



https://dl.doubtnut.com/l/_RPqPpsFiRDQm
https://dl.doubtnut.com/l/_qOSAdvUOOxgz

pK, + pK,, + pK,,
D. 3

Answer: A

° View Text Solution

30. The structure of a basic amino acid, lysine, is given below:

®
HOOC ~ € H —(CHy), ~ CH:NHy | (4)
® NH;

The pK, ,pK,, and PK, of (A), respectively, are:
2.18, 8.95, and 10.53.

What is the pH at isoelectric points (pI)?

A pKCh + pKa2
' 2

B PKa, + pKa,
) 2

C pKa, + pKo,
' 2



https://dl.doubtnut.com/l/_qOSAdvUOOxgz
https://dl.doubtnut.com/l/_uiyepZvhJcxD

pK, + pK,, + pK,,
D. 3

Answer: C

o View Text Solution

31. Which statementsare correct?

A. Lactose is a disaccharide and is a reducing sugar.

B. a-D-glucopyranoside and B - D-glucopyranose are

anomers.

C. Methyl — a-D-glucopyranoside has an acetal structure

and is a non-reducing sugar.

D. a-D-Glucopyranose has a hemiacetal structure ans is a

reducing sugar.


https://dl.doubtnut.com/l/_uiyepZvhJcxD
https://dl.doubtnut.com/l/_xU6AsPhVXpIS

Answer: A::B::C::D

o View Text Solution

Exercises (Single Correcttype)

1. The main structural feature of proteins is:

A. Ether linkage

B. Ester linkage

C. Peptide llinkage

D. All the three above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xU6AsPhVXpIS
https://dl.doubtnut.com/l/_9yfb4w69yhaC

2. Enzymes belong to which class of compounds?

A. Polysaccharides

B. Polypeptides

C. Polypeptides

D. Polynitro hetcrocyclic compounds

Answer: B

° Watch Video Solution

3. Glucose reacts wih acetic anhydride to form:

A. Monoacetate


https://dl.doubtnut.com/l/_9yfb4w69yhaC
https://dl.doubtnut.com/l/_nnTHl5byhp2Y
https://dl.doubtnut.com/l/_Hxutf5ltZ0jx

B. Tetra-acetate

C. Penta-acetate

D. Hexa-acetate

Answer: C

o Watch Video Solution

4. Which of the following chemical units is certainly to be

found in an enzyme?

OH

~ (0]
a.
HO HO O,

AN

A.

N
b. |/j
Y W


https://dl.doubtnut.com/l/_Hxutf5ltZ0jx
https://dl.doubtnut.com/l/_mE3TmAiPQOtE

Answer: C

o Watch Video Solution

5.The function of enzymes in the living system is to:

A. Transport oxygen

B. Provide immunity

C. Catalyse biochemical reactions

D. Provide energy


https://dl.doubtnut.com/l/_mE3TmAiPQOtE
https://dl.doubtnut.com/l/_rqWlNCDKf0b5

Answer: C

o Watch Video Solution

6.In DN A, the complementary bases are:

A. Uracil and adenine: cytosine and guanine

B. Adenine and thymine: guanine and cytosine

C. Adenine and thymine: guanine and uracil

D. Adenine and guanine: thymine and cytosine

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rqWlNCDKf0b5
https://dl.doubtnut.com/l/_n3HZIhBBRQrs

7.Glucose +x phenyl hydrazine — osazone 'x' will be :

A. Three

B. Two

C.One

D. Four

Answer: A

o Watch Video Solution

8. Vitamin A is called:

A. Ascorbic acid

B. Retinol


https://dl.doubtnut.com/l/_EZXmL4mh1FrC
https://dl.doubtnut.com/l/_J7kS76VRsxVV

C. Calciferol

D. Tocopherol

Answer: B

° Watch Video Solution

9. Which carbohydrate is an essential contituent of plant

cells?

A. Starch

B. Cellulose

C. Sucrose

D. Vitamins


https://dl.doubtnut.com/l/_J7kS76VRsxVV
https://dl.doubtnut.com/l/_Chz45ey2ajrv

Answer: B

o Watch Video Solution

10. The hormone which controls the process of burning of

fats, protiens, and carbohydrates and liberates energy in the

body is:

A. Thyroxine

B. Adrenaline

C. Insulin

D. Cortisone

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Chz45ey2ajrv
https://dl.doubtnut.com/l/_eXgfK3WXBLNr

11. Which of the following has magnesium?

A. Chlorophyll

B. Haemocyanin

C. Carbonic abhydrase

D. Vitamin B,

Answer: A

o Watch Video Solution

12. Vitamin By is:

A. Riboflavin


https://dl.doubtnut.com/l/_eXgfK3WXBLNr
https://dl.doubtnut.com/l/_Tc9J5JQUtOtD
https://dl.doubtnut.com/l/_ubu7ZedkCFY2

B. Cobalalmin

C. Thiamine

D. Pyridoxine

Answer: B

o Watch Video Solution

13. The deficiency of vitamin C' casuse:

A. Scurvy

B. Rickets

C. Pyrrohea

D. Pernicious anaemia


https://dl.doubtnut.com/l/_ubu7ZedkCFY2
https://dl.doubtnut.com/l/_7pqxp9z9CXkR

Answer: A

o Watch Video Solution

14.ao — D(+ ) — glucoseand 8 — D( + ) — glucose are:

A. Enantiomers
B. Geometrical
C. Epimers

D. Anomers

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_7pqxp9z9CXkR
https://dl.doubtnut.com/l/_Arudwxk3vTNg

15. Sanger's reagent is used for the identification of:

A. N — terminal of a peptide chain

B. C' — terminal of a peptide chain

C. Slide chain of amino acids

D. Molecular weight of the peptide chain

Answer: A

o Watch Video Solution

16. The number of tripeptides formed by three different

amino acids is:

A. Three


https://dl.doubtnut.com/l/_OOY80v3BZJ4O
https://dl.doubtnut.com/l/_cmN22wYlAphZ

B. Four

C. Five

D. Six

Answer: D

° Watch Video Solution

17. Which structural feature distinguishes proline from other

natural @ — amino acids?

A. It is optically inactive.

B. It contains armatic group.

C. It is a dicarboxylic acid

D. It has a secondary amine.


https://dl.doubtnut.com/l/_cmN22wYlAphZ
https://dl.doubtnut.com/l/_Yr7S2oJ1HBKM

Answer: D

o Watch Video Solution

18. Which is the correct statement?

A. Starch is a plymer of a — glucose.

B. Amylose is a component of collulose.

C. Proteins are composed of only one type of amino acids.

D. In cyclic structure of furnaose, there are four carbon

atoms and one oxygen atom.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Yr7S2oJ1HBKM
https://dl.doubtnut.com/l/_OhqW3JNsSH3u

19. Which statement is incorrect about the peptide bond?

A.(C — N) bond length in proteins is longer than the
usual bond length of (C' — N) bond,

B. Spectroscopic analysis shows planar structure of
(CO — NH) group.

C.(C — N) bond length in proteins is smaller than usual
bond length of (C' — N) bond.

D. None of the above.\

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_tzRnvVTxGFKV

20.The vitamins absorbed from the intestine along with fats

are:

A A D

B.A, B

C.AC

D.D, B

Answer: A

o Watch Video Solution

21. The functional group which is found in amino acid is:

A.—COOH


https://dl.doubtnut.com/l/_Mq1FCAWSr1mE
https://dl.doubtnut.com/l/_agDh1YoXXZmI

B.—NH,

C.—CH,

D. Both (a) and (b)

Answer: D

o Watch Video Solution

22. Complete hydrolysis of cellulose gives:

A. L-Glucose

B. D-Fructose

C. D-Ribose

D. D-Glucose


https://dl.doubtnut.com/l/_agDh1YoXXZmI
https://dl.doubtnut.com/l/_5dCAgh36rstw

Answer: D

o Watch Video Solution

23. The reason for double helical structure of DNA is the

operation of:

A. Electrostatic attractions

B. van der Waals forces

C. Dipole-dipole interactions

D. Hydrogen bonding

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_5dCAgh36rstw
https://dl.doubtnut.com/l/_yMKcGo2Rxo9F
https://dl.doubtnut.com/l/_rj7R5obGXDTr

24, Chargaff' a rule states that in an organism:

A.The amount of adenine (A) us equal to that of
thymine (T) and the amount of guanine (G) is equal
to that of cytosine (C).

B. The amount of adenine (A) is equal to that of thymine
(T) and the amount of guanine (G) is equal to that of
cytosine (O).

C. The amount of adenine (A) is equal to that of cytosine
(C) and the amount of thymine (T') is equal to that of
guanine (G).

D. The amounts of all bases are equal.

Answer: A



https://dl.doubtnut.com/l/_rj7R5obGXDTr

| o Watch Video Solution

25. Subunits present in haemoglobin are:

A2

B.3

C.4

D.5

Answer: C

o Watch Video Solution

26. Among the following the achiral amino acid is:


https://dl.doubtnut.com/l/_rj7R5obGXDTr
https://dl.doubtnut.com/l/_1eIFFvXCKMeS
https://dl.doubtnut.com/l/_OUxnQfXT6yPN

A. Ethylalanine

B. Methylglycine

C. 2-Hydroxymethylserine

D. Tryptophan

Answer: C

° Watch Video Solution

27.The hormone that helps in the conversion of glucose into

glycogen is:

A. Cortisone

B. Bile acids

C. Adrenaline


https://dl.doubtnut.com/l/_OUxnQfXT6yPN
https://dl.doubtnut.com/l/_OdzkZi5ANulu

D. Insulin

Answer: D

o Watch Video Solution

28. The enzyme which hydrolyses triglycerides to fatty acid

and glycerol is called:

A. Maltose
B. Lipase
C. Zymase

D. Pepsin

Answer: B

| o W akdla\tdaa CAlikliam



https://dl.doubtnut.com/l/_OdzkZi5ANulu
https://dl.doubtnut.com/l/_edXSbF7XQWD8

| —vvdtilll VIUCU JUIUVLIVIL )

29. The correct statement in respect of protein haemoglobin

is that it

A. Functions as a catalyst for biological reactions.

B. maintains blood sugar level.

C. acts as an oxygen carrier in the blood.

D. forms antibodies and offers resistance to disease.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_edXSbF7XQWD8
https://dl.doubtnut.com/l/_hMDP8arzN2IZ

30. Which of the following structures represents the peptide

chain?
N 0
A—Z{f—ﬁ’—{{—%J—NH—g’—NH—
H ° A H 0
gtk
H ¢ H 0
C-N-C-C-N-C-C-
| g |
D.
H 0 H
N-C- ¢ O N-C O N-CCC
| | L{ | | IOI | |
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_VxWm4rPJ3qWj
https://dl.doubtnut.com/l/_V4YwDqAxEcde

31. The number of chiral carbons in 8 — D( + ) — glucose is:

A5
B.6
C.3

D.4

Answer: A

° Watch Video Solution

32.The helical structure of protein is stabilised by:

A. Dipeptide bonds

B. Hydrogen bonds


https://dl.doubtnut.com/l/_V4YwDqAxEcde
https://dl.doubtnut.com/l/_KS31ILppxPx8

C. Ether bonds

D. Peptide bonds

Answer: B

° Watch Video Solution

33. Insulin production and its action in human body are

responsible for the level of diabetes. This compound belongs

to which of the following catefories:

A. A coenzyme

B. Ahormone

C. An enzyme

D. An antibiotic


https://dl.doubtnut.com/l/_KS31ILppxPx8
https://dl.doubtnut.com/l/_zAKyCwjU9tPw

Answer: B

o Watch Video Solution

34. Which base is present in RN A but notin DNA?

A. Uracil
B. Cytosine
C. Guanine

D. Thymine

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zAKyCwjU9tPw
https://dl.doubtnut.com/l/_TPC3g28I89Co

35. The nucleic acid base having two possible binding sites is:

A. Thymine

B. Cytosine

C. Guanine

D. Thymine

Answer: C

o Watch Video Solution

36. Carbohydrates are stored in human body as the

polysaccharide:

A. Starch


https://dl.doubtnut.com/l/_RYc8DInGXPRf
https://dl.doubtnut.com/l/_xSxQbxWb0I0X

B. Glucose

C. Glycogen

D. Galactose

Answer: C

° Watch Video Solution

37. An alteration in the base sequence of nucleic acid

molecule is:

A. Relication

B. Mutation

C. Duplication

D. Dislocation


https://dl.doubtnut.com/l/_xSxQbxWb0I0X
https://dl.doubtnut.com/l/_LdOSWDGWElLQ

Answer: B

o Watch Video Solution

38. @ — and B — Glucose differ in the orientation of the
( — OH) group around:

A C4

B.Cy

C.Cs

D. Cy

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LdOSWDGWElLQ
https://dl.doubtnut.com/l/_qKacqtjZt0zZ
https://dl.doubtnut.com/l/_MaKdfQDefzOL

39. Which functional group participates in the disulphide

bond formation in proteins?

A. Thioether

B. Thiol

C. Thioester

D. Thiolactone

Answer: B

° Watch Video Solution

40. In both DNA and RNA, the heterocyclic base and

phosphate ester linkages are at:


https://dl.doubtnut.com/l/_MaKdfQDefzOL
https://dl.doubtnut.com/l/_SPObQZGRHON8

A.C5 and (), respectively, of the sugar molecule.

B.Cy and (s, respectively, of the sugar molecule.

C.C; and Cj, respectively, of the sugar molecule.

D.Cs and (1, respectively, of the sugar molecule.

Answer: C

° Watch Video Solution

41. Which of the following biomolecules is insoluble in water?

A. o — Keratin

B. Hyaemoglobin

C. Ribonuclease

D. Aldenine


https://dl.doubtnut.com/l/_SPObQZGRHON8
https://dl.doubtnut.com/l/_HsCNpO5WJFVV

Answer: A

o Watch Video Solution

42. Which of the following statements is true for protein
synthesis (translation)?

A. Amino acids are directly recognised by m — RN A.

B. The third base of the codon is less specific.

C. Only one codon codes for an amino acid.

D.Every t — RNA has more than one amino acid

attachment.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HsCNpO5WJFVV
https://dl.doubtnut.com/l/_mcqonTCP2dmf

43. The human body does not produce:

A. Enzymes

B. DNA

C. Vitamins

D. Hormones

Answer: C

° Watch Video Solution

44, During the process of digestion, the proteins present in
food materials are hydrolysed to amino acids. The two

enzymes involved in the process are:


https://dl.doubtnut.com/l/_mcqonTCP2dmf
https://dl.doubtnut.com/l/_u6cRqk9V0qfY
https://dl.doubtnut.com/l/_v2WZGdt4htsI

Enzyme (A) )
—— > Polypeptides

—— Amino acids
Enzyme (B)

A. Invertase and zymase

B. Amylase and maltase

C. Diastase and lipase

D. Pepsin and trypsin

Answer: D

o Watch Video Solution

45.The pair in which both the species have iron is:

A. Nitrogenase, cytochromes

B. Carboxypeptidase, haemoglobin


https://dl.doubtnut.com/l/_v2WZGdt4htsI
https://dl.doubtnut.com/l/_KpQeMycvnxvX

C. Haemoglobin, nitrogenase

D. Haemoglobin, cytochromes

Answer: D

° Watch Video Solution

46. Thymine is:

A.5 — Methyluracil

B.4 — Methyluracil

C. 3 — Methyluracil

D.1 — Methyluracil

Answer: A

| &


https://dl.doubtnut.com/l/_KpQeMycvnxvX
https://dl.doubtnut.com/l/_TSnAboBAFT1v

[ W Watch Video Solution

47. Lysine is least soluble in water in the pH range:

A.3to4

B.5to 6

C.6to7

D.8to 9

Answer: D

o Watch Video Solution

48. Methyl—a — D — glucoside and methyl—38 — D —

glucoside are:


https://dl.doubtnut.com/l/_TSnAboBAFT1v
https://dl.doubtnut.com/l/_eNHiH2JJEkfq
https://dl.doubtnut.com/l/_1zQ35KrzRMBA

A. Epimers

B. Anomers

C. Enantiomers

D. Conformational diastereomers

Answer: B

° Watch Video Solution

49. In addition to an aldehyde group, glucose contains:

A. One secondary and four primary OH groups.

B. One primary and four secondary OH groups.

C. Two primary OH and three secondary OH groups.

D. Three primary OH and two secondary OH groups.


https://dl.doubtnut.com/l/_1zQ35KrzRMBA
https://dl.doubtnut.com/l/_CmJdaxFBcEqS

Answer: B

o Watch Video Solution

50. At pH = 4, glycine exists as:
® ©
A.H3;N — CH,COO
@
B. H3N — CN,COOH
C. HL NCH,COOH

C)
D. HL NCH,COO

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CmJdaxFBcEqS
https://dl.doubtnut.com/l/_0ESH9gV9bnFH

51. Biotin is an organic compound present in yeast. Its

deficiency in diet causes dermatitis and paralysis. It is also

known as:

A.Vitamin H

B. Vitamin B;

C.Vitamin Bqs

D. Vitamin D

Answer: A

° Watch Video Solution

52.The efficiency of an enzyme to catalyse a reacrtion is due

to its capacity to:


https://dl.doubtnut.com/l/_yMucpklu4BCu
https://dl.doubtnut.com/l/_eCcs6S1uM6xa

A. Reduced the activation energy of the reaction.

B. Form strong enzyme-substrate complex.

C.Decrease the bond energies of all the substrate

molecules.

D.Increase the free energy of the catalyst-substrate

reaction.

Answer: A

° Watch Video Solution

53. Glucose reacts with excess of phenylhydrazine and forms

A. Glucosazone

B. Glucose phenylhydrazone


https://dl.doubtnut.com/l/_eCcs6S1uM6xa
https://dl.doubtnut.com/l/_aE2tp76ps6Rp

C. Glucose oxime

D. Sorbitol

Answer: A

° Watch Video Solution

54.The term anomer of glucose refers to:

A.lsomers of glucose that differ in configuration at
carbons one and four (C' — 1 and C — 4).

B. A mixture of D — glucose and L — glucose.

C. Enantiomers of glucose.

D.lsomers of glucose that differ in configuration at

carbon one (C — 1)


https://dl.doubtnut.com/l/_aE2tp76ps6Rp
https://dl.doubtnut.com/l/_doJUaxnHo4A1

Answer: D

o Watch Video Solution

55. The pyrimidine bases present in DN A are:

A. Cytosine and adenine

B. Cytosine and gunine

C. Cytosine and thymine

D. Cytosine and uracil

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_doJUaxnHo4A1
https://dl.doubtnut.com/l/_knsiftzky3Vg

56. Hydrolysis of lactose with dilute acid yields:

A. Equimolar mixture of D — glucose and D — glucose.

B. Equimolar mixture of D — glucose and D — galactose..

C. Equimolar mixture of D — glucose and D — fructose.

D. Equimolar mixture of D — galactose and D —

galactose.

Answer: B

° Watch Video Solution

57. Cellulose is a straight-chain polysaccharide composed of

only:


https://dl.doubtnut.com/l/_P830Y8JRmTQt
https://dl.doubtnut.com/l/_GDGtP81F3iKp

A. D — Glucose units joined by a — glycosidic linkage.

B. D — Glucose units joined by 8 — glycosidic linkage.

C. D — Glucose units joined by a — glycosidic linkage.

D. D — Glucose units joined by 8 — glycosidic linkage.

Answer: B

° Watch Video Solution

58. One of the different amino acids which can be

synthesised in the body is:

A. lysine

B. Histidine

C. Valine


https://dl.doubtnut.com/l/_GDGtP81F3iKp
https://dl.doubtnut.com/l/_2AmPo92ialPt

D. Alanine

o Watch Video Solution

59. Sucrose on hydrolysis gives:

A. Glucose+Glucose

B. Glucose+Galactose

C. Glucose+Fructose

D. Glucose+Lactose

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2AmPo92ialPt
https://dl.doubtnut.com/l/_g7xFPCZPjxHB
https://dl.doubtnut.com/l/_KH0Ohuwga5BC

60. The a-amino acid which contains the aromatic side chain

A. Proline

B. Tyrosine

C. Valine

D. Tryptophan

Answer: D

° Watch Video Solution

61. Which of the following is a female sex hormone?

A. Adrenaline


https://dl.doubtnut.com/l/_KH0Ohuwga5BC
https://dl.doubtnut.com/l/_F7EPGuMILKil

B. Esterone

C. Cortisone

D. Testosterone

Answer: B

° Watch Video Solution

62. The chemical extracted from the plant Rauwolfia

sepentina is:

A. Aspirin

B. Quinine

C. Bithional

D. Reserpine


https://dl.doubtnut.com/l/_F7EPGuMILKil
https://dl.doubtnut.com/l/_wRJ26uLyFcne

Answer: D

o Watch Video Solution

63. Which of the following is a plant growth inhibiter?

A. Heteroauxin
B. Gibberrellins
C. Cytokinnis

D. Abscisic acid (ABA)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wRJ26uLyFcne
https://dl.doubtnut.com/l/_A25xWhzaEL25

64. The first sex attractant pheromone identified was that of

A. Cat

B. Dog

C. Gypsy moth

D. Human

Answer: C

o Watch Video Solution

65. To separate a mixture of monosacharides, you would use

A. Centrifuge

B. Chromatograph


https://dl.doubtnut.com/l/_zLnEIRqrpegl
https://dl.doubtnut.com/l/_oz0LRORnKLu7

C. Mass spectometer

D. Electrolytic cell

Answer: B

° Watch Video Solution

66. Which of the following carbohydrates cannot be directly

utilised by the human body as a source of energy?

A. Glucose

B. Sucrose

C. Glycogen

D. Cellulose


https://dl.doubtnut.com/l/_oz0LRORnKLu7
https://dl.doubtnut.com/l/_LzxsVGOiEzyi

Answer: D

o Watch Video Solution

67. The Ruff degradation used to reduce the carbon the

carbon chain in an

A. Alcohol

B. Alkene

C. Ketose

D. Aldose

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_LzxsVGOiEzyi
https://dl.doubtnut.com/l/_1zSMSwLwwR88
https://dl.doubtnut.com/l/_2USIstU30SqH

68. The Killani's synthesis is used to increase the carbon

chain in:

A. Acid

B. Alcohol

C. Aldose

D. Ketose

Answer: C

o Watch Video Solution

69. Which of the following statements is incorrect?


https://dl.doubtnut.com/l/_2USIstU30SqH
https://dl.doubtnut.com/l/_3pHxFVbxxzb6

A.a — D — glucose  and B — D — glucose are

enantiomers.

B. D — Glyceraldehyde and L — glyceraldehyde are

epimers.

C. The reserve carbohydrate of animals is glycogen.

D. Few aldohexoses which react with phenylhydrazine to

give identical osaazones are epimers.

Answer: A

° Watch Video Solution

70. Check the incorrect statement.


https://dl.doubtnut.com/l/_3pHxFVbxxzb6
https://dl.doubtnut.com/l/_BFWkcugomxij

A. Protiens, like fats and carbohydrates, are primarily used

for supplying heat and energy to the body.

B. Proteins differ from fats and carbohydrates in that they

contain nitrogen.

C. Amino acids in proteins have L — configuration.

D. Enzymes are proteins.

Answer: A

° Watch Video Solution

71. Check the incorrect statement.

A. Adenine and guanine are both purine bases and are

found both in DNA and RN A.


https://dl.doubtnut.com/l/_BFWkcugomxij
https://dl.doubtnut.com/l/_W1hvuNXxesvZ

B. Genetic information is based upon the nucleotide

sequence in DN A.

C. The genetic code consist of triplets of nucieotide, each

triplet codes an amino acid.

D. Transfer RN A carries the code for the synthesis of

proteins.

Answer: D

° Watch Video Solution

72. Which of the following statements is incorrect?

A.Vitamins are included in diet because they are not

synthesised in the human body.


https://dl.doubtnut.com/l/_W1hvuNXxesvZ
https://dl.doubtnut.com/l/_ZQ7ccNrY3qQA

B. Most vitamins fuction as coenzymes.

C.A person with diabetes mellituss suffers from

hypoglycemia.

D. Hypoglycemia can affect the brain due to low blood

sugar level.

Answer: C

o Watch Video Solution

73. Lasctose is made up of:

A. Galactose unit and glucose unit

B. Glucose unit and fructose unit

C. Both glucose units


https://dl.doubtnut.com/l/_ZQ7ccNrY3qQA
https://dl.doubtnut.com/l/_II185cUa75y7

D. Glucose and arbinose unit

Answer: A

o Watch Video Solution

74.1soprene units prevail in all the following except

A. Natural rubber

B. Vitamin A

C. Terpenes

D.Vitamin F

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_II185cUa75y7
https://dl.doubtnut.com/l/_DUl4DjUkvGtm

75.The pH value of the solution in which a particular amino

acid does not migrate under the influence of electric field is

called the:

A. Eutectic point

B. Neutralisation point

C. Effusion point

D. Isoelectric point

Answer: D

° Watch Video Solution

76. During aerobic respiration, one molecule of glucose

produces:


https://dl.doubtnut.com/l/_0HaGEOiefq3m
https://dl.doubtnut.com/l/_U3TO7bKZgaDM

A.2AT P molecules

B.50AT P molecules

C.38AT P molecules

D. 36 AT P molecules

Answer: C

° Watch Video Solution

77. The chemical substance which acts as emulsifier is:

A. Phosphoric acid
B. Fatty acid
C. Bile acids

D. Mineral acids (HCI)


https://dl.doubtnut.com/l/_U3TO7bKZgaDM
https://dl.doubtnut.com/l/_0OywOEv0emhU

Answer: C

o Watch Video Solution

78. If the sequence of bases in one strand of DNA is
ATGACTGTC then the sequence of bases in its
complementary strands is:

ATACTGACAG

B.TUCTGUCCUG

C.GUAGTUAUG

D. None of the above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0OywOEv0emhU
https://dl.doubtnut.com/l/_x51UWWZVC55O

79.The RN A which takes part in the synthesis of proteins is:

A.m — RNA
B.r — RNA
C.t — RNA

D. All the above

Answer: D

o Watch Video Solution

80. Mark the incorrect statement about AT P.

A. It is a nucleotide.



https://dl.doubtnut.com/l/_x51UWWZVC55O
https://dl.doubtnut.com/l/_XEtdH8fR8GWZ
https://dl.doubtnut.com/l/_QBHGi5paDyTE

B. It contains the purine adenine.

C. The enzyme-catalysed hydrolysis of AT P to ADP and

AMP is accompanied by absorption of energy.

D. Energy is stored in the cell in the form of AT P.

Answer: C

° Watch Video Solution

81. The sequence in which amino acids are linked to one

another in a protein molecule is called its:

A. Primary structure

B. Secondary structure

C. Tertiary structure


https://dl.doubtnut.com/l/_QBHGi5paDyTE
https://dl.doubtnut.com/l/_rBuYc5jgncJ0

D. Quaternary structure

Answer: A

o Watch Video Solution

Exercises (Assertion-Reasoning)

1. Statement I: Glycosides mutarotate.

Statement Il: The anomeric OH is etherified and the

equilibrium with the free carbonyl form is destroyed.

A. Statement I is true, Statement II is true, Statements

11 is the correct explanation of Statement 1.


https://dl.doubtnut.com/l/_rBuYc5jgncJ0
https://dl.doubtnut.com/l/_mu1Vn8454uP3

B. Statement I is true, Statement 11 is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement [ is true, Statement I1 is false.

D. Statement I is false, Statement I1 is true.

Answer: D

° Watch Video Solution

2. Statement I: There is a releatikonship between the ability
of a sugar to mutarotate and to reduce Tollens reafent.

Statement 1l: The reduction of Tollens reafent and
mutarotation both depend on the presence of free carbonyl

form.


https://dl.doubtnut.com/l/_mu1Vn8454uP3
https://dl.doubtnut.com/l/_cik7Tn9HZ6Lt

A. Statement I is true, Statement I is true, Statements

I is the correct explanation of Statement 1.

B. Statement I is true, Statement I/ is true, Statement I/

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement I/ is true.

Answer: A

° Watch Video Solution

3. Statement |: Glucose and fructose both reduce Schiff's
reagent.

Statement II: Both have free carbonyl group.


https://dl.doubtnut.com/l/_cik7Tn9HZ6Lt
https://dl.doubtnut.com/l/_OL1qBrkBFWSA

A. Statement I is true, Statement I is true, Statements

I is the correct explanation of Statement I.

B. Statement I is true, Statement I/ is true, Statement I/

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement I/ is true.

Answer: D

° Watch Video Solution

4. Statement I: D-Fructose is used for sweetening cold drinks
but not hot ones.

Statement II: the sweet form is fructopyranose, on increasing


https://dl.doubtnut.com/l/_OL1qBrkBFWSA
https://dl.doubtnut.com/l/_WqNPM1orrBoF

termperature causes or shift in the pyranose < furanose

equilibrium towards the less sweet furanose form.

A. Statement I is true, Statement II is true, Statements

11 is the correct explanation of Statement 1.

B. Statement I is true, Statement 11 is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement I1 is true.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WqNPM1orrBoF

5. Statement |I: D — 2 — Deoxyglucose reacts with
3molPhNHN H, and form an osazone.
Statement Il: D — 2 — Deoxyglucose has no
(C — OH) group a — to the (C = O) group.
A. Statement I is true, Statement I is true, Statements
IIis the correct explanation of Statement I.
B. Statement I is true, Statement I is true, Statement 11
is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement 11 is true.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_oQIoCe7yowj4

6. Statement I: B — D — Glucophyranose is the most

abundant naturally occuring aldohexoses.

Statement II: All the ring substituents in the chair

conformation are equatorial.

A. Statement I is true, Statement I is true, Statements

IIis the correct explanation of Statement I.

B. Statement I is true, Statement I is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement 11 is true.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0jbZ9RNNVcn2

7. Statement I: D — 3 Deoxyglucose has gfour chiral C

atoms.

Statement II: It exists in eight stereoisomers.

A. Statement I is true, Statement II is true, Statements

ITIis the correct explanation of Statement I.

B. Statement I is true, Statement 11 is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement I is false, Statement I1 is true.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_gaQi6SvYoMI0
https://dl.doubtnut.com/l/_YScLSm2YyssZ

8. Statement I: All enzymes are protiens but all proteins are

not enzymes.

Statement Il: Enzymes are biocatalysts and have stable

configuration having an active site.

A. Statement I is true, Statement II is true, Statements

I is the correct explanation of Statement I.

B. Statement I is true, Statement 11 is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement I1 is true.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YScLSm2YyssZ
https://dl.doubtnut.com/l/_kD0sSGgyzfqT

9. Statement I: A triester of glycerol with stearic acid on
boiling with Aq. NaOH gives solid cake with soapy touch.
Statement II: Free glycerol is liberated which is a syrupy
reactions.
A. Statement I is true, Statement II is true, Statements
ITIis the correct explanation of Statement I.
B. Statement I is true, Statement I is true, Statement 11
is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement I1 is true.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_kD0sSGgyzfqT
https://dl.doubtnut.com/l/_KWUWrd2ZDK8P

10. AT P is the main source of energy of many anaerobic
realations.
Statement Il: Anaerobic reactions occur in the presence of
oxygen.
A. Statement [ is true, Statement II is true, Statements
ITIis the correct explanation of Statement I.
B. Statement I is true, Statement I is true, Statement 11
is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement I1 is true.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KWUWrd2ZDK8P

11. Statement |: Carboxypeptidase is an exopeptidase

Statement Il: It cleaves N-terminal bond.

A. Statement I is true, Statement II is true, Statements

II is the correct explanation of Statement 1.

B. Statement I is true, Statement 11 is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement I is false, Statement 11 is true.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_k6IrqdSYBRyG

12. Statement I: Cellulose is not diagested by human beings.

Statement II: Cellulose is a polymer of ‘beta-D-flucose.

A. Statement I is true, Statement II is true, Statements

II is the correct explanation of Statement 1.

B. Statement I is true, Statement 11 is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement I is false, Statement I1 is true.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1J2bnJwma6L7

13. Statement I: Thymine occures in RN A.

Statement Il: RN A controls the synthesis of proteins.

A. Statement I is true, Statement II is true, Statements

II is the correct explanation of Statement 1.

B. Statement I is true, Statement 11 is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement I is false, Statement I1 is true.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Q5muOfMwAdb7

14. Statement I: Insulin is a globular protein.

Statement II: It has two polypeptide chains with 21 and 30

amino acids joined by sulhur bridges connecting cysteine

amino acid on the two chains.

A. Statement I is true, Statement I is true, Statements

I is the correct explanation of Statement I.

B. Statement I is true, Statement I is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement 11 is true.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nxeUu9SNdJQi

15. D — Fructose with dil. NaOH undergoes a reversible

isomerisation and is converted to a mixure of D — glucose,

D — mannose and S — fructose.

Statement II: This reaction is known as Lobryde Bruyn-van

Ekenstein rearrangement.

A. Statement I is true, Statement II is true, Statements

11 is the correct explanation of Statement 1.

B. Statement I is true, Statement I/ is true, Statement 11

is not the correct explanation of Statement 1.

C.Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement 11 is true.

Answer: A

| ° Watch Video Solution


https://dl.doubtnut.com/l/_52r6c1552yVV

Exercises Archives (Single Correct )

1. Which of the following pairs give positive Tollens test?

A. Glucose, Sucrose

B. Glucose, fructose

C. Hexanal, acetophenone

D. Fructose,sucrose

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_52r6c1552yVV
https://dl.doubtnut.com/l/_LHJ0Y6wTAmZQ

2.The two forms of D-glucopyranose obtained from solution

of D-glucose are known as:

A.lsomer

B. Anomer

C. Epimer

D. Enantiomer

Answer: B

o Watch Video Solution

3. Cellulose upon acetylation with excess
anhydride /| HySO, (catalytic) gives cellulose triacetate

whose structure is:


https://dl.doubtnut.com/l/_isegcnjUJsAx
https://dl.doubtnut.com/l/_qSH7LXJqd0k4
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Answer: A

° Watch Video Solution

4.The correct statement about the following disaccharide is:

CH,0OH
H O H HOH,C

OH H H O ~
OCH,CH,0 CH,OH

o _H

HO

@ OH OH H
H ()


https://dl.doubtnut.com/l/_qSH7LXJqd0k4
https://dl.doubtnut.com/l/_d1mbCPmk51Vc

A.Ring (a) is pyranose with a — glycosidic link.
B.Ring (a) is furanose with a — glycosidic link.
C. Ring (b) is furanose with o — glycosidic link.

D. Ring (b) is pyranose with 8 — glycosidic link.

Answer: A

° Watch Video Solution

5. The correct statement(s) about the following sugars (X)

and (Y)is /are:


https://dl.doubtnut.com/l/_d1mbCPmk51Vc
https://dl.doubtnut.com/l/_W9MfWAdua7AH

CH,OH

H O H HOHzC O H
H i
HO i OWCHZOH
H OH (X) OH H
CH,0H
— H
H 1 o
CH,OH H
OH
H o) O
H OH H
OH H
HO H
H OH (Y)

A.(X) is a reducing sugar and (Y) is a non-reducing
sugar.

B.(X) is a non-reducing sugar and (Y) is a reducing
sugar.

C. The glucosidic linkage in (X) and (Y) are a and S,

respectively.


https://dl.doubtnut.com/l/_W9MfWAdua7AH

D. The glucosidic linkages in (X) and (Y) are 8 and «,

respectively.

Answer: B::C

o Watch Video Solution

Exercises Archives (Assertion-Reasoning)

1. Statement I: Glucose gives a reddish-brown precipitate
with fehling's solution.
Statement I: Reaction of glucose with fehling's solution gives

CuO and gluconic acid.

A. Statement I is true, Statement I is true, Statements

ITis the correct explanation of Statement I.


https://dl.doubtnut.com/l/_W9MfWAdua7AH
https://dl.doubtnut.com/l/_Pl26VpczKBou

B. Statement I is true, Statement 11 is true, Statement 11

is not the correct explanation of Statement 1.

C. Statement I is true, Statement I1 is false.

D. Statement [ is false, Statement 11 is true.

Answer: C

o Watch Video Solution

Exercises Archives (Analytical And Descriptive)

1. Write the structure of alanine at pH = 2 and pH = 10.

o Watch Video Solution



https://dl.doubtnut.com/l/_Pl26VpczKBou
https://dl.doubtnut.com/l/_hRJ9o1rdDG9l
https://dl.doubtnut.com/l/_JRUrJgysUWMP

2. Give the structure of each of the products in the following
reactions:
(i) Lo

(ii) Lo

o Watch Video Solution

3. As partune, an artifical sweetener, is a peptide and has the

following structure:

HOH
|/ Ph
111 H}N '." NH__C :
| 4 811:)4}61
COo0® "
? RS —
(‘ Ph —
HoN OH + HzN{ non-polar
part
,)—OH
COOH 6] B)
(A)

(i) Identify the four functional groups.


https://dl.doubtnut.com/l/_JRUrJgysUWMP
https://dl.doubtnut.com/l/_LGALEBByJAZf

(ii) Write the zwitterionic structure.
(iii) Write the structure of amino acids obtained from the
hydrolysis of aspartame.

(iv) Which of the two amino acids is more hydrophobic?

o Watch Video Solution

4. Write down the heteroheneous catalyst involved in the

polymerisation of ethylene.

o Watch Video Solution

5. Following two amino acids liosine and glutamine form

dipeptide linkage. What are the two possible dipeptides?

| &


https://dl.doubtnut.com/l/_LGALEBByJAZf
https://dl.doubtnut.com/l/_1khvfRjl4urC
https://dl.doubtnut.com/l/_SsfC4b3QOPCn

| ¥ Watch Video Solution |

6. The structure of D — glucose is as follows:
[
(a) Draw the structure of L — glucose.

(b) Give the reaction of L — glucose with Tollens reagent.

o Watch Video Solution

7. Which of the following disaccharides will not reduce

Tollens reagent? P

o Watch Video Solution



https://dl.doubtnut.com/l/_SsfC4b3QOPCn
https://dl.doubtnut.com/l/_OmBDJyljmd7T
https://dl.doubtnut.com/l/_g4HoOLNAg1gU

8. Arrange in the order of increasing acidic strengths.

H;3N .
4 NH;
Y

COOH
X

o Watch Video Solution

QUESTION BANK

1. Number of pyrimidine bases present in both in DNA and

RNA are

o Watch Video Solution



https://dl.doubtnut.com/l/_sLYEDTJJnJbz
https://dl.doubtnut.com/l/_ihHh5zxeo0H9

2. How many of given are essential athino acids?

Glycine, Alanine, Valine, Leucine, Proline, Methionine.

o Watch Video Solution

3. How many of the following carbohydrates are not
disaccharides?

Glucose, Fructose, Sucrose, and Starch.

o Watch Video Solution

4. How many moles of HIO, corisumed per mole of glucose?

o Watch Video Solution



https://dl.doubtnut.com/l/_U3uozM5h55to
https://dl.doubtnut.com/l/_FVgjuAHzBGhM
https://dl.doubtnut.com/l/_wEXAtPuK5nyM
https://dl.doubtnut.com/l/_6T9Q1Mvbu7LM

5. How many of the following are not polyamide fibre?
() Nylon- 6,6

(1) Nylon-6

(1) Teffon

(IV) Terylene

° Watch Video Solution

6. How many of the following is formed by condensation
polymerisation?

() Nylon-6,6

(I1) Terylene

(111) Bakelite

o Watch Video Solution



https://dl.doubtnut.com/l/_6T9Q1Mvbu7LM
https://dl.doubtnut.com/l/_oKays6SFKbYe

7. How many of the given polymers are homopolymers?

Polyethylene, Dacron, Buna rubber, Nylon-6,6

o Watch Video Solution

8. How many.of the given polymers are co-polymers?

Bakelite, Glyptal, Teflon, Terylene.

o Watch Video Solution



https://dl.doubtnut.com/l/_NvZinHWAD8Cn
https://dl.doubtnut.com/l/_tAMEU2JQAVOY

